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Questions

Area bounded between the curve xy=2 and the lines x=1 and x=2

If the points (a,2b):(c,a+b):(2c-a,h) lie on the same line then

If the lines 2x-3y-1=0,3x-y-5=0 and 3x+py+8=0 meet at a unique point then

The point of concurrency of the medians of the AABC is called its

The coordinates of a point P(x,y) referred to XY-system are

The line | is horizontal if

The straight lines represented by the equation ax2+ 2hxy +by2 =0 intersects at

The line through the intersection of the lines x+ 2y+ 3= 0 : 3x +4y +7 =0 and making equal
intercepts on the axes is

The points A(3,1),B(-2,-3),C(2,2) are vertices of an (an)

The point P (5,8) and the origin lie on the side of the line 3x+ 7y+ 15 =0

The equation of the line perpendicular to x- axis and passing through (-5,3) is

Area of the triangle whose vertices are (2,3),(0,1),(0,0) is

The points A(+1,-1),B(3,0),C(3,7),D(1,8) are vertices of

The exterior angle of the interior angle C of he quadrilateral whose vertices are A(5,2),B(-
2,3),C(-3,-4),D(4,-5) is

The measure of the acute angle between the lines represented by X2 -xy -6y2 =0 is
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. In2 square units

. Inv2 square units
. In4 square units
. Square units

. h=2a
. h=a+b
. h=ab
. h=ac

.p=-14
.p=-1
.p=0
. p=12

. Orthocenter
. Centriod
Circumcentre
. Incentre

- (x+y,y+k)
(xh,y-k)
(xy)

(X-hvy-k)

. mis undefined
. m=0

. m=1

. m=0-1

Right triangle
Equilateral triangle
Isosceles triangle
Scalene triangle

Same side

P above and origin below
Opposite side

P below and origin above
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Square
Parallelogram
Rectangle
Trapezium

30°

60°
45°
90°

120°
30°
130°
45°
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If k2x2 +2hxy- 4y2 =0 represents two perpendicular lines then

If line through (4,3) and (2,k) is perpendicular to y =2x +3, then k =

If A(a,b) lies on 3x +2y =13 and point B(b,a) lies on x-y =5 then equation of AB is

The length of perpendicular from (3,1) to 4x +3y +20 =0 is

The obtuse angle between lines =-2 and y = x+2 is

The equation of line passing through intersection of line x= 0 and y = 0 and the point (2,2)
is

The two lines y = 2xand x =2y are

The angle between lines xy =0 is

A joint equation of the lines through the origin and perpendicular to the lines ax2 +2hxy
+by2 =0 is indentical is ax2 +2hxy +by2 =0 if

(-28,12) divides the join of A(-6,3) and B(5,-2) in ratio

Number of lines passing through three non-collinear points is

A quadrilateral whose diagonals are perpendicular bisector of each other is

The ratio in which the line y- x+ 2 =0 divides the line joining (3,-1) and (8,9) is

Any horizontal line divided the plane into

For different values of k equation 4x+5y =k represents

For all points (x,y) in first quadrant

For all points (x,y) in second quadrant
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y=x-1
Ly=x+1
y=x+1

. Perpendicular

B
C
D
A. Parallel
B
C. Equally inclined with axes
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[V

moow» ToOw>
©
n oy
o o

[V]
1]
o

1
0

)

moor» Dowm»
N

Square
. Rectangle

. Parallelogram
. Trapezium
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-2:3
3:2
-3:2
Left half plane

Infinite number of horizontal liens
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None of these

Lines parallel to x -axis
Perpendicular lines
Lines parallel to y -axis

x&gt; 0,y &lt; 0

x &lt; 0,y &lt; 0
x &lt; 0,y &gt; 0

x&gt; 0, y &lt; 0
.x&gt; 0,y &gt; 0
C.x&lt; 0,y &lt; 0
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For all points (x,y) in third quadrant

For all points (x,y) in fourth quadrant

For all points (x,y) on x-axis

For all points (x,y) on y-axis

The distance between two points P(x1, y1) and Q (x2, y2) is

The square of the distance between two points P(x1, y1) and Q(x2, y2) is

The distance between the points (0,0) and (x,y) is

The distance between the points (0, 0) and (1, 2) is

The distance between the points (0, 0) and (2, 1) is

The distance between the points (1, 2) and (2, 1) is

The distance between the points (2, 2) and (3, 3) is

The distance of the point (a, b) from x-axis is

The distance of the point (a,b) from y-axis is

The distance of the point (2.3) from x-axis is

The distance of the point (-2,3) from x-axis is

The distance of the point (2, -3) from x-axis is

The distance of the point (2,3) from y-axis is

The distance of the point (2,-3) from y-axis is

The distance of the point (-2 , 3) from y-axis is

The distance of the point (-2 , -3) from x-axis is

The distance of the point (-2 , -3) from y-axis is
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. X&gL U, y &lt; U
.x&gt; 0,y &gt; 0

x &lt; 0,y &gt; 0

x&gt; 0,y &gt; 0
x &lt; 0,y &lt; 0
x&lt; 0,y &gt; 0
x is positive

y=0
y is negative

X is positive
x=0

y=0

X<SUp>2</sup>+ y<sup>2</sup>
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The distance of the point (2,3) from origin is

The distance of the point (-2, -3) from the origin is

If d4is the distance between (0,0) and (1,2) and dais the distance between (0,0) and (2,1)
then

If d4is the distance between (0,0) and (1,2) and dais the distance between (0,0) and (-1,-2)
the

The distance between the points (2,3) and (3,2) is

If distance of (a,b) from x-axis is 2 then

If distance of (a,b) from y-axis is 2 then

If distance of (a,b) from origin is 5 then

If distance between (a,2) and (0,0) is 2 then a =

If distance between (3,b) and (0,0) is 3 thenb =

Question Image

Question Image

Question Image

The distance of the point (1.1) from the origin is

The point R dividing internally the line joining the points P(x1, y1) and Q(xp, y2) in the ratio
K1: Kohas the coordinates

The point R dividing externally the line joining the points P(x1, y1) and Q(x2, y2) in the ratio
k4: kohas the coordinates

The mid point of the line joining the points P(x1, y1) and Q(xp, y2) is

The distance between the points A(3,1) and B(-2,-4) is

The distance between the points A(-8,3) and B(2,-1) is

The mid point of the line segment joining the points A(3,1) and B(-2,-4) is

The mid point of the line segment joining the points A(-8,3) and B(2,-1) is

The mid point of the line segment joining the points (4,0) and (0,4) is
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. d<sub>1</sub>&lt;d<sub>2</sub>
. d<sub>18&gt;</sub>d<sub>2</sub>
. none of these

. d<sub>1</sub>&lt; d<sub>2</sub>
. d<sub>1</sub>&gt; d<sub>2</sub>

. none of these
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a<sup>2</sup>+ b<sup>2</sup>=5
a=5
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A.(1,-3)

B. (-6,2)
C.(5,2)
D. (-5,2)
A (4,4)

C. (-4,-4)
D. (-2,-2)

A (3-1)
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The mid point of the line segment joining the points (3,-1) and (-3,1) is

The mid point of the line segment joining the points (a,b) and (b,a) is

Question Image

Question Image

If origin is the mid point of (a,3) and (5,b) then

If origin is the mid point of (a, -3) and (-5, b) then

If (2, 3) is the mid point of (a, 3) and (5, b) then

The coordinates of the point that divides the join of A(-6,3) and B(5, -2) in the ratio 2:3
internally

The coordinates of the point that divides the join of A(-6,3) and B(5, -2) in the ratio 2:3
externally are

The centroid of a triangle divides each median in the ratio

The point which divides the line segment joining the points (a, b) and (c, d) in the ratio 2 : 3
internally is

The point of concurrency of the medians of a triangle is called

The point of concurrency of the angle bisectors of a triangle is called

The point of concurrency of the right bisectors of the sides of a triangle is called

If A(x1, y1) , B(x2, y2) and C(x3, y3) are the vertices of a triangle then its centroid is
Question Image

Question Image

Question Image

Question Image

The inclination of a line parallel to x-axis is

The inclination of a line parallel to y-axis is

Question Image

Question Image

Question Image

Question Image

Question Image

C.(2,2)

D. (4,4)

B. 2

C.-1

D.

B. 2a

C. 3a

D. 4a
B.a=5,b=3
C.a=-5,b=3
D.a=5,b=-3
A.a=-5,b=-3
C.a=-5,b=3
D.a=5,b=-3
A.a=1,b=-3
C.a=1,b=3
D.a=-1,b=-3
B.3:1

C.3:2

D.1:1

D. none of these

A. incentre
B. circumcentre

9]

. e-centre

circumcentre
e-centre
centroid

incentre

e-center
centroid
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Question Image

The slope of x-axis is

The slope of y-axis is

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

If I, m, n are the d.c.'s of a line, then

The points (5, 2, 4)(6, -1, 2) and (8, -7, k) are collinear if k is equal to

The direction cosines of a line equally inclined with co-ordinate axes are

The direction cosines of any normal to the xy-plane are

The distance of the points (3, 4, 5) from y-axis is

Question Image

The st. lines whose direction cosines satisfy al + bm + cn = 0, fmn + gnl + him=0 are
perpendicular if

The projections of a line segment on x, y, zaxes are 12, 4, 3. The length and the direction
cosines of the line segment are

Question Image

The point which divides the line joining the points (2, 4, 5) and (3, 5, -4) in the ratio -2 : 3
lines on

The distance of the plane 2x - 3y + 6z + 14 = 0 from the origin is

The equation of the plane which bisects the line joining (2, 3, 4) and (6, 7, 8) is

The lines I1and I2intersect. The shortest distance between them is
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undefined
1

0

1

1

-1
undefined

N o1 O

12+ m2+ n2=0

I+m+n=1
I=m=n=1

&lt;1, 0, 0&gt;
&lt;0, 1, 0&gt;
&lt;1, 1, 0&gt;

(3,1,-2)

(2,-1,3)

(-1,-2,-3)

0
2

5/3

. ZOXplane

XOY plane

. None of these

14

.X-y+z-15=0

x-y-z-156=0
Xx+y+z+15=0

. Positive
. Negative
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The equations of the line thro' the point (2, 3, -5) and equally inclined to the axis are

The points (5, 0, 2), (2, -6, 0), (4, -9, 6) and (7, -3, 8) are vertices of a

The points (5, -4, 2),(4, -3, 1),(7, -6, 4),(8, -7, 5) are vertices of a
Question Image

Question Image

Question Image

The foot of perpendicular from ((Xﬂ,)/) only y-axis is

64.A point (x, y, z) moves parallel to xy plane. Which of the three variables x, y, zremain
fixed?

Question Image

Question Image

The intercepts of the plane 2x - 3y + 4z = 12 on the co-ordinate axes are given by

Question Image

The equation of the sphere passing thro' (0, 0, 0), (a, 0, 0), (0, b, 0), (9, 0, c) is

The center of the sphore which passes thro' (a, 0, 0), (0, b, 0), (0, 0, ¢) and (0, O, 0) is

The equation of the sphere thro' the origin and making intercepts a, b, ¢ on co-ordinate
axes is

D. Infinity

Rhombus
Rectangle
Parallelogram

Square

Rectangle
Rhombus
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B. At right angles to the plane
C. Lies in the plane
D. Meet the plane obliquely

A. (<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 248);"><i>a</i></span>,
0,0)

C. (0, 0, <span style="font-family:
&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 224);"><i>y</i></span>)
D. (0,0, 0)
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.2,-3
.6,-4,-3

. X-axis

A

B
D.3,-2,15
A

B. y-axis

D

. None of these

>

. X<SUp>2</sup>+ y<sup>2</sup>+
z<sup>2</sup>+ 2 ax+2 by + 2cz=0
B. x<sup>2</sup>+ y<sup>2</sup>+
z<sup>2</sup>- 2ax- 2 by - 2cz=0

D. x<sup>2</sup>+ y<sup>2</sup>+
z<sup>2</sup>+ax+by +cz=0

A. x<sup>2</sup>+ y<sup>2</sup>+
z<sup>2</sup>+ax+by +cz=0

B. x<sup>2</sup>+ y<sup>2</sup>+
z<sup>2</sup>- 2ax-2by-2cz=0
C. x<sup>2</sup>+ y<sup>2</sup>+
z<sup>2</sup>=a+b +c



